Csci 201 Fall’01:  Review for Exam 1

Note: All exams will be open book

Problem 1: Basics

Answer the following questions concerning the program given below (line numbers have been included for convenience):

1.  import cs1.Keyboard;

2.  

3.  public class TempConverter

4.  {

5.    public static void main (String[] args)

6.    {

7.       // declare variables used to hold the data

8.       final int BASE = 32;

9.       int celsiusTemp;

10.      double fahrenheitTemp;

11.      

12.      // get celsius temp from user 

13.      System.out.println("enter the celsius temperature as a whole number");

14.      celsiusTemp = Keyboard.readInt();

15.

16.      // calculate conversion to fahrenheit  

17.      fahrenheitTemp = celsiusTemp * 9/5 + BASE;

18.

19.      // output conversion results

20.      System.out.println ("Celsius Temperature: " + celsiusTemp);

21.      System.out.println ("Fahrenheit Equivalent: " + fahrenheitTemp);

22.   }

23.

24.   public void testing()

25.   {

26.      System.out.print (“This converter is still working---just give it a try\n”);

27.   }

28.}

1. What is the name of the class being defined?





ANS:
TempConverter



2. How many methods does this class have, and what are their names?


ANS: 2: main() and testing()
3. What kind of statement is on line 19?






ANS: comment

4. On line 5, what does the word “static” mean?







                                                       ANS: the method can be invoked through the class name without having to instantiate an object of the class first

5. What is the purpose of line 1?







ANS: make the Keyboard class available for use in this program

6. When this program is run, if the user enters “1”, will the output be 33.0 or 33.8?
ANS: 33.0

7. Exactly what output is generated by line 26?


                                           
 ANS:  This converter is still working---just give it a try followed by a carriage return




8. In line 26, what method is being called and what object does it belong to?  

ANS: the method print();  it belongs to the System.out object

      Does that method receive inputs?






ANS: yes

9. What type of variable is declared on line 8?





ANS: an integer constant

10. How many bits are used to store the variable declared in line 9?



ANS: 32 bits

Problem 2: Expressions

In java what is the evaluation of the following expressions? 

1. 2 + 2 * 3 + 6 / 7 

ANS: 8

2. 8 %( 3 + 2478) / 10 % 10 
ANS: 0

3. 4.2 / 2



ANS: 2.1

4. 1 + 2 / 2.0 < 5


ANS: true

5. 6 < 7 < 8


ANS: compiler error

Problem 3: If-else statements

What would be printed by the following program when it receives 17 as input?

import cs1.Keyboard;

public class OldAge

{

   public static void main (String[] args)

   {

      final int MINOR = 21;

      final int MIDDLEAGE = 40;

      System.out.print ("Enter your age: ");

      int age = Keyboard.readInt();

      System.out.println ("You entered: " + age);

      if(age == MINOR) {

         System.out.println ("This is your year.");

      System.out.println ("You have the power!");

      }

      if (age <= MINOR)

         System.out.println ("Youth is a wonderful thing.");

      if (age >= MIDDLEAGE)

         System.out.println ("Life begins at 40.");

      else

         System.out.println ("Remember, age is a state of mind.");

      System.out.println ("Enjoy!");

   }

}

ANS:

Enter your age: 17

You entered: 17

Youth is a wonderful thing.

Remember, age is a state of mind.

Enjoy!

Problem 4: Strings---hard?

What will be output by the following program taken from your text (page 77)?

public class StringMutation

{

   public static void main (String[] args)

   {

      String phrase = new String ("Change is inevitable");

      String mutation1, mutation2, mutation3, mutation4;

      System.out.println ("Original string: \"" + phrase + "\"");

      System.out.println ("Length of string: " + phrase.length());

      mutation1 = phrase.concat (", except from vending machines.");

      mutation2 = mutation1.toUpperCase();

      mutation3 = mutation2.replace ('E', 'X');

      mutation4 = mutation3.substring (3, 30);

      // Print each mutated string

      System.out.println ("Mutation #1: " + mutation1);

      System.out.println ("Mutation #2: " + mutation2);

      System.out.println ("Mutation #3: " + mutation3);

      System.out.println ("Mutation #4: " + mutation4);

      System.out.println ("Mutated length: " + mutation4.length());

   }

}

ANS:

Original string: "Change is inevitable"

Length of string: 20

Mutation #1: Change is inevitable, except from vending machines.

Mutation #2: CHANGE IS INEVITABLE, EXCEPT FROM VENDING MACHINES.

Mutation #3: CHANGX IS INXVITABLX, XXCXPT FROM VXNDING MACHINXS.

Mutation #4: NGX IS INXVITABLX, XXCXPT F

Mutated length: 27

Problem 5: Writing code---hardest?

The numbers 3, 6, 39, and 42 are all multiples of 3 that is 3 divides each of the numbers with no remainder. Write a program (we’ll call it Trio) that prints whether a user-entered number is a multiple of three. 

Examples of running trio would look like the following:


enter a number: 138

138 is a multiple of three


enter a number: 7

7 is NOT a multiple of three


One possible ANS:

import cs1.Keyboard;

public class Trio {



public static void main (String [] args) {




int number;




System.out.print("Enter an integer number: ");




number=Keyboard.readInt();




if(number%3==0) {





System.out.println(number + " is a multiple of three");




}




else {





System.out.println(number + " is NOT a multiple of three");




}



}

}

